EdCIL - DDA JE (Civil & Elect) Exam

Participant ID:
Participant Name:
[Test Center Name:

[Test Date: 24/04/2018
[Test Time: 12:30 PM - 2:30 PM
Subject: JE CIVIL

Section : Domain

Q.1 Which of the following admixtures is used in concrete in cold regions to enhance concrete’s freezethaw resistance?

Ans " Question ID : 9497309744
x 1. Water rEducmg agent Status : Answered
< 2. Viscosity modifying agent Chosen Option :4

X 3. Plasticizers

+ 4 Air entraining agent

O ot dmw w ¥ A & e R s § Question ID : 9497309712
Ans 1. ﬂﬁ-ﬁ; I Status : Answered
x 2 Chosen Option : 3
<2 et o
X o forthr fig ox T
v &8

9EY & ATeTH U ST del 53 & 99 & &t

Question ID : 9497309732
Ans X 1. 450 Status : Answered
Chosen Option : 2

2 500
X3 475
X4 510

Q4 ; ; ; : i e
‘Which of the following soils are essentially plastic in behavior? Question ID : 9497309741

Ans X 1. Boulders Status : Answered
Chosen Option : 4
# 2 Sand 2
~< 3 silt

« 4 Clay

Q.5 =fy Rfrse 7ify wwewr 75 @ & fer F @ R exareet @ wma R ST =ige?
ﬁ Question ID : 9497309709

Q.3 Fe500D 3T &1 =g 0.2% T Siarmer (~qe=/ae" fehafey) w7 g2
Al
‘ " X1 TFA T F YT Yoo Status : Answered
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y Chosen Option : 3
X 2 9T (31) FAT F T Toed

v o ot

X 4. e

Q.G I£ D10, D30 and D60 for a soil are respectively 1 mm, 2 mm and 5 mm, then the coefficient of uniformity is:

Ans Question ID : 9497309742
x 125 Status : Answered
X205 Chosen Option : 4
K32
s

Q.7 Anengineer wants to design a steel eleric pole of 6 m height with end conditions as one end is restrained against translation

and rotation while the other is free. The effective length of column she should consider while designing this pole would be: Question ID : 9497309727
Ans X1 9m Status : Not Answered
X 2.15m Chosen Option : --
K3 6m
vi12m
Q.8 What will be the length (m) of a sedimentation fank i the velocity of flow is 0.2 m/min and the detention period is 6 h?
Ans J Question ID : 9497309703
72 Status : Answered
x 2. 10 Chosen Option : 1
X3 54
X 4 60

Q9 Th it f structural steel ibed by IS 800 is:

. e unit mass (kg/cum) of s steel as prescribed by is Question ID :94987300731

Ans X1, 7650 Status : Answered
X 2. 7750 Chosen Option : 4
# 3. 7950
o 4 7850

Q.10 ™ case of e conerete, length ints shall NOT exceed Y times the least

T Question ID : 9497309694

Ans X 1. 50 Status : Answered
J 2. 60 Chosen Option : 2
X3 40
<4 30

Q.11 Normally, a geodetic survey is performed if the area to be surveyed s beyond X sq.km, where X is:

Ans “ Question ID : 9497309724

250 Status : Answered
22150 Chosen Option : 1

#3350
< 4450




Q.12 st 7 456 & FgER, T A Bl o R F g $E9 Saee g 3R e & X wRne F Question ID : 9497309691
F A & WA, T X Ll
) Status : Answered
Ans X 1. 0.12 Chosen Option : 1
V2 0.15
<3010
<4018
Q.13 ve. i i i i .
In a curve, is the angle of intersection of the tangents is called as: Question ID : 9497309717
Ans 1. Degree of curve Status : Answered
Chosen Option : 4
# 2. Obtuse angle
# . Internal angle
« 4 Deflection angle
Q.14 40 F o7 ot @7 Ao R 3 AT SR e 30 AT @ & €W de & R Rt
T T F? Question ID : 9497309749
Ans J 110 Status : Not Answered
Chosen Option : ==
< 21333
K34
# 41000
Q.15 In a stiffness method. the number of unknowns to be determined are termed as:
" Question ID : 9497309674
ns o 1. Kinematic indeterminacy Status : Answered
< 2. Unstead indeterminacy SHECECEHE) «
75 3. Static indeterminacy
#< 4. Steady indeterminacy
Q1 6 Incase of reinforced cement concrete wall design, the ratio of effective height to thickness, shall be limited to:
Ans Question ID : 9497309688
x 120 Status : Answered
f 2. 30 Chosen Option : 2
X3 35
K425
Q.17 Which of the following process take place during biochemical treatment of sewage effluents?
Ans ’ Question ID : 9497309706
X ! Carbonation Status : Answered
X2 Hydration Chosen Option : 1
¥ 3 Oxidation
# 4 Reduction
Q.18 Ifthe dosage of Alum is 15 mg/l. then the estimated quantity of Alum required (MT) for 10 million lter of water per day
LS Question ID : 9497309702

Ans




X 10015 Status : Not Answered

“ 2. 0.15 Chosen Option : --
<315
X415
O ey Y AT F UF = 2 ¥ Question ID :9497309713
Ans . Status : Answered
{ " T mT‘?’ﬁ Chosen Option : 1
<2 oy Ymat
X H

X 4 ot YT

Q.20 Ifthe unconfined compressive strength of a saturated clay is 360 kPa, then its estimated shear strength (kPa) would be:

- . Question ID : 9497309733
« 1180 Status : Not Answered
X 2120 Chosen Option : -
X3 240
#4360

Q.21 Which of the following is NOT an advantage of grid-iron method of layout of pipe distri
" ] Question ID : 9497309701
#< 1. Affects small areas in case of repairs B s Tlswired

X 2. Not liable to pollution gileeektion &

# 3. Minimal head loss
o 4 Ttis very inexpensive

Ans

Q.22 Which of the following is NOT used as a field method of assessing soil compaction?
Question ID : 9497309737
Ans X 1. Nuclear density meter Status : Answered
Chosen Option : 1
X 2. Rubber balloon method 2
# 3. Sand replacement method

+ 4 Direct shear test

Q.23 The acceptable limit of total hardness (as CaC0jy ) as per the Indian standard is: .
Question ID : 9497309704

Ans X' 1. 250 Status : Not Answered
v 2 200 Chosen Option : -
#3100
#4150

Q.24 A ts of 5 Hectares of gard factor = 0.2) and § Hectares of

factor = 0.1). What will be the average impermeability factor for this area? Question ID : 9497309700

Ans X1 0.25 Status : Not Answered

f 2. 0.15 Chosen Option : -
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X 3010
<4020

O e & @ S g e 2

Question ID : 9497309684
A Status : Answered
ns =
PGt m Chosen Option : 3
X 2 e
# 3 FATESTET
Vi g
Q.26 3 8 HeT REfer o GO g ¥ R F e H ge T w1 wGean WAl (Re) F @
A Question ID : 9497309697
ns x 114 Status : Answered
X 2.57 Chosen Option : 2
v 21
X4 28
Q.27 Incase of steel design, the mininuum value of stress, below which not more than a specified percentage (usually $ percent)
of corresponding stresses of samples tested are expected to occur is called as: Question ID : 9497309729
Ans x 1. Plastic limit Status : Answered
e Chosen Option : 2
# 2. Characteristic load P
X3 Rupture load
« 4. Characteristic yield
Q.28 20 (@E7) 3R 25 (3afer) Belieer # o seara i woet B 32 Peleex Fers & o Tu gE awor
T ¥ g A T e e (B ¥ s g e Question ID : 9497309726
Ans « 1300 Status : Answered
Chosen Option : 1
< 2960
X 3. 640
X 4 480
Q.29 wAdeR 1 Fu RS, serd-gaw BT & goen & Fefofes i feed # & 505 s 4 e &
A Question ID : 9497309719
ns
K. A FAUET H HEFIGRAT Status : Not Answered
x 2. FH UFF Chosen Option : ==
X 3. arfe-diar
Vo wmA g g §
Q.30 In aproperly adjusted dumpy level, which of the following relationships are NOT desired?
A . Question ID : 9497309716
ns
r s Status : Answered
‘Horizontal cross hair should lie in a plane perpendicular to the Vertical axis. so that it will lie in a Horizontal plane when the
snitenl i plogetty leeted Chosen Option : 4
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2.
A?x<.is of the level tube is perpendicular to the Vertical axis.

23
The Line of sight is parallel to the axis of the level tube.

4

The vertical axis is non-perpendicular to axis of level tube.

Q.31 vafm W e & e #, o AR w1 o ¥ e s ae oF & R @ f e
Question ID : 9497309693

Ans X128 e deT Status : Answered
X2 30 m Chosen Option : 3
X3 32 s
v+ 36 el

Q.32 The acceptable minimum pH of drinking water per Indian standard is:

Question ID : 9497309705

Ans X175 Status : Answered
265 Chosen Option : 4
<36
X7

Q.33 Which of the following soil behaviors is explained using spring analogy? .
Question ID : 9497309735

L) X 18 Slope sl;ablhty Status : Not Answered
/< 2. Shrinkage Chosen Option : =
#< 3. Compaction
4 Consolidation

0.34 ich is in a constant condition of ‘humidity, is known as:

Ans = Question ID : 9497309685
x 2 Tempenng Status : Answered
' 2. Equilibrium moisture content Siigseh Oty - 3

& 3. Seasoning
< 4. Optimum moisture content

Q.35 Rt o & F TR T Ree & R wmnd & R smw a3
= ) e i Question ID :9497309728

Ane K 31?1? ﬁ'ﬂaﬂ' Status : Answered

Chosen Option : 2

v 2. FeRor
X3 oo fEweor
X4 oy Rsiea
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Q.36 R e R Rt S A ofde 220.65 Brere o @t seRe of¥ ek srFuf A ww e Question ID : 9497309708
Ans J 1.300 Status : Answered
Chosen Option : 1
X 2 200
#3100
#4400
Q.37 @f freir s 1 wiee WA 50 AR @ Al SR Ao 456 ¥ HER, HeAIH ST
FES wE & areR @ ¥ Question ID : 9497309698
Ans x 1. 36 Status : Answered
) Chosen Option : 1
v249
X381
X464
Q.38 IS 383 ¥ 3w, I-Frdor e 75 ¥ R wETE & ssor = B = @@ (%) =5
A Question ID : 9497309747
ns
X 130 Status : Answered
W2 50 Chosen Option : 1
X320
<4 40
Q.39 Whi cing Wi inting i all?
‘Which of the following will you recommend for painting internal wall? Question ID : 9497300682
LD ( 1. Enamel Status : Answered
x 2. Emulsion Chosen Option :2
# 3. Lead oxide
75 4. Tron oxide
Q.40 &g 3 e s
5 T T 5 S s &2 Question ID : 9497309673
Ans "1, Status : Answered
= = Chosen Option : 4
T & gl mAeT R TR A °
X2
T W §ET 9T (S1E) Saer i g@ar g
X o T 3N gfoee ¥ FEd Aadr
v e = 8RR g g
Q.41 Which of the following is a mis-interpreted disadvantage of plane table surveying?
Question ID : 9497309720
Ans & 1. Unsuitable for wet climate Status : Answered
Chosen Option : 3

W 2. Tt is very costly
< 3. It is not intended for accurate works
X 4 Tt is difficult to carry
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Q.42 A flow in which at any point in the lowing luid various characteistcs such s the velociy, pressure, densiy, emperature, etc
do not change with time i called as:

Ans 1. Uniform flow
W 2 Steady flow

Question ID :
Status :

Chosen Option : 2

9497309714
Answered

# 3. Non-uniform flow
& 4. Unsteady flow

/< 4 Magnesium

Q47 The characteristic strength of concrete is measured at:

Ans X 1. 14 days

Question ID :
Status :
03

Chosen Option

9497309746
Answered

X2 7 days
o 5 28 days
XA. 3d,ays

Q.43 ST FoT 456 & SHER, FYAH Sehadl & O T Fow RBeTgs %, wgwe X oot # g F
T A7 sl w500 AR TRE RAT30 & wR @ AR, S X Hl Question ID : 9497309695
Ans « 1.20 Status : Answered
Chosen Option : 2
X225
<315
X410
Q.44 =7 ST e Ao s # e aRade R e E 3 & T vera R S §1
S : : Question ID : 9497309690
X1 HE e g Status : Answered
5 Chosen Option :1
X 2 UgE g
V5 FER AE
X 4 TSN (79e) B
Q45 He Y b iparcd
e " <l T R — R Question ID : 9497309750
Ans 4 S Status : Answered
Chosen Option : 4
X2 foTdey A
X s AT
R iy
Q.46 Which of the following oxides dominate ordinary portland cement? o o
Ans x 1. Iron Status : Answered
X 2. Aluminium Chosen Option : 4
+ 5 Calcium
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Q.48 vF T A T Ao FA AE F1 A sy IR Rt F F 9 B e 7

x 2. a-II“EH

X s YemEa

X 4 el

Chosen Option

21

A Question ID : 9497309683
ns - *
K HeTATAT Status : Answered
a Chosen Option : 4
X 2 e P
X 3 AT
v
Q.49 - 2 STE L T
‘What will be the porosity of a soil if its void ratio is 37 Question ID : 9497309740
Ans X115 Status : Answered
Chosen Option : 4
K2175
#3133
4 0.75
Q.50 v BT 2 m T F O FEASR A () TAM e 8| TE AT A R 60 mn AR 3R A )
E 1= 6x10°mm* F WG = sregweer TRr=de goar &1 7R RS 100 N/squm & R T Question ID : 9497309672
S a9 Aew & 7 ¥ A OR W GURE T S8 (N) F @ Status : Not Answered
Ans X" 1. 2000 Chosen Option : -
< 21500
X 3. 500
v 4 1000
Q.51 ndi e —
Indian standard limits the pH of water used for concrete making to: L 07309745
aos X i 7 Status : Answered
x 2.4 Chosen Option : 1
was
vi6
Q.52 Animigation channel is to be designed to carry a flow of 30 cums with a velocity of 1.5 m/s. The area (sq.m) of flow
T Question ID : 9497309710
Sne “ 1. 20 Status : Answered
X 2. 45 Chosen Option : 1
X3 450
X430
Q.53 e =i &, Fqar & Aeww § I & gag W aw wEven Bk g e R o
A Question ID : 9497309736
ns
J 1. g]ﬁ Status : Answered
I
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Q.54 aR e &t # gean e 1000 Rrieraee At R sER T e 1 =g d6sEt @ @

o FHEr Y@ oA (3 Heds) T @ Question ID :9497309715
Status : Answered
Ans o 1. 0.001 )
) Chosen Option : 2
<2 0.01
<31
X401
Q.55 1fthe maximum flow of sewage is 0.314 cunys, then the diameter (m) of the rising main, carrying sewage at 1 m/s would
By Question ID : 9497309699
Ans  of 1. 0.63 Status : Not Answered

X2 072
X 3. 0.66
X 4058

Chosen Option :

TR aw ¥, T o R et R A i

A X Hfeefeeme F aReT R
X 2 HFmde IR HEa
V5 o saer fiEa
X 4 Feefraaer @ guw faee

Question ID :
Status :
Chosen Option :

9497309675
Not Answered

Q.57 foosr & & v & fsor & Jen-sirtees whie Sie@ifemT &1 w2 far s 82

Q.56 Y 79 & gerey S & B, e F ¥ e o et Fea § B ol ad aw e e &

Question ID : 9497309751
Ans of 1. Ter Status : Answered
q Chosen Option : 3
X 2 FgETE
X s T
X 4 SART
Q.58 What will be the shear modulus of the material with elastic modulus of 240 GPa and Poisson's ratio is 0.2?
Ans Question ID : 9497309679
x 180 Status : Answered
x 2. 60 Chosen Option : 4
X5120
4100
Q.59 =f fregfy st S T o ¥ FA @ A 8 MR WuRT wAT w7 )
(=) & Fe AR Be Awes # Tge A= ST awr E Question ID : 9497309696
Ans % 4 Status : Answered
x 26 Chosen Option : 2
V220
X314
<7
(
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Q60 Bitumen is graded by viscosity at T °C, where T is:
Ans x 1. 50

Question ID :
Status :
Chosen Option :

9497309686
Not Answered

X270
2340
460

Q.61 o & ¥ R 3l o THT T FUEY @ AR FPE 9 H o3I F §?

fre K fes g wm

Question ID

Status :

19497309743

Answered

Chosen Option : 3
X 2. FoAER ITHTH W= 3THR
Vo T I
<4 T ATEEY T 3T
Q.62 - aeror F e e
e SR # G T FOT I e Question ID : 9497309722
Ans Status : Answered
1. EﬁmT =Rl 'EﬁHT
x L2 i Chosen Option : 2
X 2 g AfEeEa § AT
s
T 339 dlecdl egd @ 1 AAGE § I
K4 g & Tdg H FTEARR 7 g
Q.63 = Fx TN T T A ¥ S Ed i e e W e T g e # ¥ w a
R gafdt a1 &2 Question ID :9497309718
Ans x 1. Eﬁﬂ' Status : Answered
Chosen Option : 4
X2
X 3. THUAT I
o o FHTE T
Q.64 Which of the following equipment/ method is used for estimating soundness of a cement?
A Question ID : 9497309687
ns
X 1. Kell}’ ball Status : Answered
x 2. Marsh flow cone Chosen Option : 4
< 3. Abrams’ slump cone
' 4 LeChatelier
Q.65 @f 7er A ae WA 40% R coTRedhar YaHH 12% ¥ A FW FeT H Fhd g i e STCIT?
A Question ID : 9497309738
ns
x . MH Status : Not Answered

X2 CL

Chosen Option :

3 ML
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X4 CH

Q.66 A continuous beam will be classified as a deep beam if the ratio of effective span to overall depth is below:
Ans x Question ID : 9497309689
1.2.75 Status : Not Answered
X2 225 Chosen Option : -
V'3 250
4. 2.00

Q.67 For which of the following members subjected to bending, there can be a point of contraflexure?

A Question ID : 9497309676
ns o 1. Beam fixed at both ends

Status : Answered

2. A simply supported beam Chosen Option : 1

# 3. Cantilever beam

X 4
Cantilever beam with heavy point load at the end

Question ID : 9497309677
1. An increasing value of shear Sl ST

Chosen Option : 3

Ans

# 2. A non-negative constant

V'3 Zero
/& 4. A decreasing value of shear

Q.69 Which of the following soils have the highest impermeability? e 209739
e J 1. Silt Status : Answered
E Chosen Option :1
X 2. Fine sand 2

# 3. Cobbles
& 4 Coarse sand

Q.70 A cantilever beam of effective length 1 s carrying a load P at the free end. If the mechanical parameters are E and I then the
maximum deflection will be: Question ID : 9497309678
Ans J : 3 Status : Not Answered
- 0.33x E Chosen Option : -

3

X2 0013x =
EI

k.

X 0021x =
EI

3
K4 0125x =
EI

Q.68 What will be the shear force for a section where the bending moment is constant?

Q.71 Iatheodolite, the line joining the optical center of the object glass to center of the eyepiece is called as:

A . i Question ID :9497309721
ns X 1. Axis of level tube

Status : Answered
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« 2 Axis of telescope o
3. Vertical axis
# 4. Horizontal axis
Q72 ggfg gEe afe e
e & far, A AT #) Question ID : 9497309692
Ans J 1. 50 m Status : Answered
Chosen Option : 2
/< 2 40 TAeNEHRT
73 60 TR
&4 70 faeieeT
Q.73 Itis the property of the material or a structure indicating the extent to which it can deform beyond the limit of yield
deformation before failure or fracture is termed as: Question ID : 9497309730
Ans « 1 Ducti]ity Status : Answered
" Chosen Option : 3
# 2. Brittleness
# 3. Slenderness ratio
# 4 Aspect ratio
Q.74 Which of the following stiffners s used to prevent local crushing of the web due to concentrated loading?
AR ; y Question ID : 9497309725
« i Bearmg Status : Answered
x 2. Diagonal Chosen Option : 2
# 3. Torsional
/X 4. Load carrying
Q.75 What will be the coefficient of discharge if the theoretical discharge of a pump is 25 Us and actual is 20 Us?
s Question ID :9497309707
114 Status : Answered
J 2. 0.8 Chosen Option : 3
X312
K4
Q.76 i i i i =
‘What is the specific gravity of ordinary portland cement? Question ID : 9497309680
Ans  of 1315 Status : Answered
Chosen Option : 1
X2 3.10 P
#3.3.00
X4 317
Q77 fr=fafa § ¥ Fi7 @ Acs FHe & AT GEEE YT FIAT?
i B e Question ID : 9497309748
Ans x 1. aﬂ:ﬂa:am m— Status : Answered
Chosen Option : 3

X 2. ;AT
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v o confEes dET
2 4 3T

Q.78 When a fluid mass rotates without any external force being impressed on it, then it is called as:
Ans  of 1. Free vortex motion
X 2. Forced vortex motion
X 3. Cyclone

#< 4 Turbulence

Question ID : 9497309711
Status : Answered
Chosen Option : 1

Q.79 The horizontal angle between the true meridian and a line is called as:
Ans of 1. Azimuth

2. Magnetic meridian

X 3. Arbitrary meridian

X 4 Magnetic bearing

Question ID : 9497309723
Status : Answered
Chosen Option : 1

Q.80 Which of the following assumptions is NOT true per Terzaghi's bearing capacity theory?
Ans o 1. Base of the footing is smooth

X2

Question ID : 9497309734
Status : Answered
Chosen Option :1

Depth of foundation is less than or equal to its width
# 3. Load applied in vertical and non-eccentric

# 4. Soil is isotropic and homogeneous

Section : Reasoning

@1 Find the value of (?) in the series.

2,6, 21, 880 % .

Question ID : 9497309753
Status : Answered
Chosen Option : 3

Ans X1, 446
xX2177
V3 445
X 4176

Q.2 A person walks 10 km towards South and then § km towards North and then 12 km towards East. How far away and in
which direction is he with reference to his starting point?

Ans  of 1. 13 km, South East
< 2. 12 km, North

Question ID : 9497309758
Status : Answered
Chosen Option : 1

/< 3. 12 km, North East
< 4.10 km, East

Q.3 e st & w4, 'T#ﬁﬁ#aﬁﬁaﬂt*ﬂ?ﬁq:—-ﬂ%rwmwT@wﬁur[

Question ID : 9497309752
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Ans o THT
X2 ofy
X o Rar
X4.g:|-|é-

Status : Answered
Chosen Option :1

Q.4 ©F FT 4T ‘please come here’ F ‘de ba fe' fFr@T ST ¥, ‘go out please’ F ‘ba hg ji FraT ST &
T ‘come and go' F Ik de hg' T ST §1 3 FT AT A ‘out’ W wR T SmeaT?

Ans X 1. ba
V2 ji
K3 fe
X4k

Question ID : 9497309757
Status : Answered
Chosen Option : 2

Q.5 v Fu Fur 3% 3o oy A9 Rw
FUR: P AN T TT - A F GEEET S
e | qE A AR § I I wEeT § F a g
Il. T5T-B # TT-A F FoE F O 9 g5l
Ill. T=T-A & FRETET T 7 ST HIor oar gl
Tortatae readl # & #ia @/ e aifte w9 ¥ R 70 U= @ S w87

A X1 R Il gt aree wE E
X2 | # 2= T =
Vo g o Y gTee AT AT B
X 4 e |l e HEET B

Question ID : 9497309761
Status : Answered
Chosen Option : 2

Q8 R T WER F HUN W, Fod e FH AR
el & otwer - FreEd o RBe o ?
Ans x,laoﬁ'r
X o g
X s fggor
o 4 mgEmr

Question ID : 9497309754
Status : Answered
Chosen Option : 4

Q7 Find the value of ‘K’ in the given table.

88 120 156
s | k| 10
14 | 15 | 16
Ans X110
K211

Question ID : 9497309759
Status : Answered
Chosen Option : 3
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V0
<7

O Ryw ww erEl W UF @E AHEA # wEfRYE
1. 35T 2. (@9 3. 5919 4. &1 5. W 6. WES
Ans X 146,83, 2 1. 5. 4
X21,2 4, 35,6
x36,52 1,3 4
v42 45 31,6

Question ID : 9497309755
Status : Answered
Chosen Option : 4

Q.9 v FFTH 10 3 ¥ 3w aur 15 7 F FA Hg T F FwA H FEa, 15 3 F 30w g @ TwE
& FE F 50% ¥ 15 A ¥ e g A wEA F wEar 180 ¥ wsh A wear 7w ok whet
G T F 10% ¥ FFT F TR HEw G FH

Ans 1. 60
<2 50
V'3 30
# 4 BB

Question ID : 9497309756
Status : Answered
Chosen Option : 3

Q.10 ©F W 3 65% AT YW TE F §, 30% ST FRAC THe T & A 25% AT At v @ F
39 St & iR F ¥, S A s it A & SR w6 aE §

Ans X1, 35%
v 2. 30%
73 25%
X4 20%

Section : Quantitative Aptitude

Question ID : 9497309760
Status : Answered
Chosen Option : 4

Q.1 v ffRae s ofr W 2 a6t @ SR sa it TRk s e 1,200 3T ¥ 1,236 #1 st B
i T e Al

Ans X1_ 8%
V2 6%
X3 4%
X4 10%

Question ID : 9497309764
Status : Not Answered
Chosen Option : ==

Q.2 3 ow @ el 3R 121 R FAH @ A A F TEF 10 & F AT @ Aol
Ans 1. 850

#2830

#3725

V4 620

Question ID : 9497309769
Status : Answered
Chosen Option : 4

=
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= tion 1D : 9497309771
e T 82 — 220 =21 ¥ HE F A A4 S Cuesien (DL
Status : Answered
Ans 3 .
x 17 Chosen Option : 4
-7,— Z
73
2, i =
2°4
X3 7,11
y 4
va_
2 4
Q.4 T TG W 5T FT T 20% 0 Few i frar o A sife e % 20% A gE & vk
e g Sfvere e R Question ID : 9497309765
Ans x Status : Answered
1o S o &l =
Chosen Option : 2
2 4% it
X3 8% wmeT
24 10% wmsT
Q.5 From the top of a clff, the angle of depression of an object at a distance of 25 m on the ground from the clff is 45°. Find
i Question ID : 9497309770
aos x i1l 25.\f§m Status : Answered
Chosen Option : 4
b
X2 —m
V3
/<3 125m
4 25m
Q.6 = mOr & 20 Fex F 20% @S ¥ ok A e ¥ afy s 4 dex e o fer R srer & &
faoT & Za$ 1 sfaea W A Question ID : 9497309766
Ans x 1. 16.75% Status : Answered
Chosen Option : 4
X2 16.33%
<3 16.5%
4 16.67%
Q.7 P g% 3w 37 10 Rt oy Ger B e ¥ R gE 31 0 A 12 Reelt oy O & T @ A
T ¥ g A 11 el F wAe e ¥ P @ a e g W A Question ID : 9497309767
Ans ; Status : Answered
1. m
l 120 Chosen Option : 1
#2100 frer
X3 115 faelr
X4 110 el
Qs Z
8, 16 3l 26 =r ﬂ_g’l!ﬁﬂ'q'l?l &2 Question ID : 9497309763
Status : Answered
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Ans X 1. B4 Chosen Option : 3
K2 57
v B2
X4 48
Q.9 @ Fmm AT 39 AT ¥ 6 T ¥ A A FE F wHT A mH w360 ¥ awur
3 ¥ T FE 100 ¥, G w= T A Question ID : 9497309762
Ans x 1. 175 Status : Not Answered
. Chosen Option : --
<2125
V'3 150
< 4 200
Q.10 A tap can fill a tank in half an hour. A leakag is capable of emptying the tank in one and half hou. If both are active
simultaneously. in how much time will the tank be filled in? Question D : 9497309768
Ans 3 1. 55 minutes Status : Answered
Chosen Option : 2

# 2. 40 minutes
# 3. 60 minutes
W 4 45 minutes

Section : General Awareness

Q1 Frrafafae # #iv @, o« Fed 551 71 vF dFTeTs A7 74 87

Question ID : 9497309777
Ans x 1 L e CIGT Status : Answered
= Chosen Option : 1
v 2 FiErwE
X5 Rude
X 4. II-FE
o) =
Q2 - > i
‘Who was the first Indian Governor of the Reserve Bank of India? Question ID : 9497309772
L0 “ 1. C. D. Deshmukh Status : Not Answered

< 2. Nanabhoy Palkhivala
& 3. Benegal Rama Rau
/& 4. C.Rajagopalachari

Chosen Option :

Y 9RE FT T ARE BRY AW S 32
Ans X 1. JregETel

V2 gregaty

X3 gereTEE

X“-mﬁiﬁ'

Question ID :
Status :
Chosen Option

9497309778
Answered

52
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Ans x 1. m Status : Answered

Chosen Option : 4

< 2 gieadr
v o BrEerelAT
X 4. GrEdETareTT

Q.5 Which of the following recently launched satellite, lost the contact with ISRO? .
Question ID : 9497309773
— x 1. GSAT-8 Status : Answered
X 2. GSAT-7 Chosen Option :2
V'3 GSAT-6A
X 4 INSAT-4B
Q.6 . g
HRA T 9gell ool 1 FHT Fgl WaT T A7 Question ID : 9497309774
Ans s Status : Answered
PR 1= Eﬂé Chosen Option : 1
v fEd
A5 FRereat
X+ TEAL
Q7 e & -
# P AT F T H T AT a1 A 7 Question ID ;9497309780
Ans x 1. Km Status : Not Answered
Chosen Option : ==

X2 Jfemm
X3 Oz

v o TegfRfATH
as 9T & Ferae $r oo GFas Fre Question ID : 9497309775
Ans ﬁ = < Status : Answered
J i @éﬁ m Chosen Option : 3
X 2. AgFAS 31 fSer
X 3. FgTcAT el
X 4 ofEg FaET A JEw
a8 THF T CIEIGEE ﬂ?.' T T %'? Question ID : 9497309776

Status : Answered

Ans
x 1. m Chosen Option : 1

1
Q4
e o T Rree & T g g aTen gEN weE Hia A p? Question ID : 9497309781
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/<2 3rEag

Ko agia

v FEaE
Q10 g arpfer Rt o amreir st @1 s e e &7 Question ID :9497309779
Ans o OB i g::::: .rfot Answered

X2 R

X s st

P

Section : English Language

Q.1 Ifyourise very high in life through means, you must be prepared to fall anytime. X
Question ID : 9497309783
Ans X1 sincere
Status : Answered
# 2. unbiased Chosen Option : 3
'3 unfair
#< 4. faithful
Q.2 Reamange the given sentences in the most appropriate sequence to form a meaningful paragraph.
K - As a result, while downloading mobile applications, we allow access to personal data more than what is required by Question ID :9497309791
‘the application.
L - As such, we never bother about online security. Status : Answered
M - Therefore, it is better to know application based cyber security threats before it s too late. :
N - We recklessly agree to the terms & conditions for all online downloads and sign-ups. Chosen Option : 2

Ans x1_ KNLM
v 2 NLKM
X 3. LMKN
X 4 MKNL

Q.3 From the given pairs of words, select the one which does not have the same meaning.
Question ID : 9497309787

A '
ns X 1. Tardy, Slow Status : Not Answered
Chosen Option : --

X 2. Ephemeral, Temporary

o 3 Temperate, Excessive

X 4. Fearful, Timid

Q.4
Question ID : 9497309785

Status : Answered

Chosen Option : 4
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Make a meaningful sentence from the following.
P : grievances you must

Q : own management first

R : if you have

S : lay them before your

The correct order is:

Ans 1. RQSP
X 2. QPSR
X 3. SQRP
« 2 RPSQ
Q5 Select the meaning of the given phrase / idiom. Question ID : 9497309789
. Status : Answered
‘At sixes and sevens® Chosen Option : 4
Ans

7 1. Accessible
/2. Going strong
+ 5. In disorder

7 4 In moderation

Q.6 The following sentence contains an error. Find the part of the sentence which contains the error.

This time (1) / he planned (2) / the event most (3) / wisely than (4) / before.

Question ID : 9497309784
Status : Answered

Ans X 1. (2) Chosen Option : 3

X2 (D)

X3 (4

4 (3)
@7 Find the mis-spelt word. Question ID : 9497309788
Ans x 1. Mnu.scule Status : Not Answered

. Chosen Option : ==
< 2 Deceive

X 3. Bellwether
« 4 Liaision

Q.8 Administrative Systems put in place by any Government are to be

Ans

& 1. ineffective
o 2 efficient
< 3 wearying
< 4. political

Question ID : 9497309782
Status : Answered
Chosen Option :1
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Q.9 From the given pairs of words, select the one which has the same meaning.
Ans X 1. Negligent, Solicitous

X 2. Changing, Steadfast

X 3. Subservient, Bullying

+ 4. Unsuitable, Improper

Question ID : 9497309786
Status : Answered
Chosen Option : 4

Q10 Change the verb into passive voice.

‘He will oblige me to go.’

Ans

# 1. Twill oblige him to go.

# 2. T'would feel obliged to go.
+ 3. 1 shall be obliged by him to go.
< 4 Let me be obliged to go.

Question ID : 9497309790
Status : Answered
Chosen Option : 3
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